= A
N & 0l & AF & & A A
2016HE £Z 1 3 LU MPBED
SA: MEZED
Ha: M oK
ool M HHE YA (eol:@e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
Rt 18,210,421 13,994,435 4,215,986
= 3,732,764 3,473,523 259,241
X 1,390,697 1,390,697 0
< 1,481,515 1,401,355 80, 160
Al 11,605,445 7,728,860 3,876,585
NN 4,356,838 4,249,694 107, 144
= 1,814,196 1,798,784 15,412
X 490,697 490,697 0
= 566,808 520,296 46,512
Al 1,485,137 1,439,917 45,220
ME BHE YA 618,529 524,015 94,514
= 325,331 301,001 24,330
= 55,546 28,462 27,084
Al 237,652 194,552 43,100
o HHE YA 97,450 71,188 26,262
101 Q124 | 97,450 71,188 26,262
04JIAMBERSES 97,450 71,188 26,262
AUSHESY 0ISHS 24 29 75,428 71,188 4,240
- Szl 10,0008 68 =42 240 0 240
- g4 2,800 0 2,800
- YE S 300, 0008 * 13| «4% 1,200 0 1,200
AUSHESS 0ISHEEA(HD) 22,022 0 22,022
-J=a 49,0008 * 1502 +2% 14,700 0 14,700
- mZEaY 49,000 212! +2% 2,058 0 2,058
- 8149 49,0008 +78 =29 686 0 686
- 2zl 60,0002 78 2% 840 0 840
- g4 350,000 *13] «22 700 0 700
- 4HEEE 18,984,000 *16/100 3,038 0 3,038
AUSHESHYR(2X) 493,346 425,004 68,252
= 311,112 286,782 24,330
= 51,492 24,408 27,084
Al 130,742 113,904 16,838
101 Q124 | 189,521 178,921 10,600
2 89,460 89,460 0
= 26,840 15,485 11,355
Al 73,221 73,976 AT85
STEEESETIRS 189,521 178,921 10,600
M2 X MW (024,015 X £6) 10,600 0 10,600
-2 @ £ 0H| 300,0008 * 13 = 10% 3,000 0 3,000
Olgay 350,000% * 28 * 10% 7,000 0 7,000
-SgHielaE 10,0008 * 68 * 10% 600 0 600
Ol 2 M € (42) 90,421 91,421 £1,000
2 45,210 45,710 £500
< 13,565 7,903 5,662
Al 31,646 37,808 16,162




SN NYBED

o
M M2 T

E - G2 (3H) - NRAY - BAES p/E-T Hl DS 2
AUSR ISSHEEL(6%) 85,500 84,500 7,000
= 42,750 42,250 500
= 12,825 7,132 5,693
Al 29,925 35,118 ~5,193
yore | 11,453 7,237 4,216
= 7,692 4,600 3,092
= 1,128 791 337
Al 2,633 1,846 787
AP 22l bl 8,453 4,237 4,216
AUSTHESE LR Ler2H| 8,453 4,237 4,216
2 6,192 3,100 3,092
= 678 341 337
Al 1,583 796 787
WL 48,378 19,351 29,027
2 35,400 14,162 21,238
< 3,894 913 2,981
Al 9,084 4,276 4,808
WET 48,378 19,351 29,027
SZYH A 48,378 19,351 29,027
= 35,400 14,162 21,238
= 3,804 913 2,981
Al 9,084 4,276 4,808
L] 239,994 215,585 24,409
= 175,633 175,633 0
= 19,441 7,030 12,411
Al 44,920 32,922 11,998
Al H] 239,994 215,585 24,409
L+ 2= AH(60ha) 193,490 169,081 24,409
= 141,600 141,600 0
= 17,247 4,836 12,411
Al 34,643 22,645 11,998
sy 1,308,777 1,285,527 23,250
2 274,343 274,343 0
< 182,820 159,570 23,250
Al 851,614 851,614 0
MEUX SH BIAY 344,565 321,315 23,250
< 59,365 36,115 23,250
Al 285,200 285,200 0
Upre | 32,670 9,420 23,250
= 25,692 2,442 23,250
Al 6,978 6,978 0
AP 221 | 32,670 9,420 23,250
ME0Y BR(SEA) 23,250 0 23,250
= 23,250 0 23,250
NEEL 452,454 463,074 A 10,620
2 281,762 290,680 £8,918
= 58,466 62,288 £3,822
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el s (29l 8)
SA- - H2A(3A) - MM - BES Off &t 24 I ZH Hus2

A 112,226 770, 106 7,720

Y =AY 49,938 47,818 2,120

101 Q1214 bl 37,538 35,418 2,120

VREREESETPY 37,538 35,418 2,120

WL ESVIEINE 37,538 35,418 2,120

- 22l 10,0002 62 22 120 0 120

- Jlgsg 350, 0002 #23] 2% 1,400 0 1,400

- I EIH) 300, 0002 * 13/ x2S 600 0 600

AEMEH SR (EX) 402,516 415,256 A12,740

= 281,762 290,680 £8,918

< 58,466 62,268 73,822

Al 62,288 62,268 0

401 Al41 bl 2 = CH | 402,516 415,256 A12,740

= 281,762 290,680 £8,918

< 58,466 62,268 73,822

Al 62,288 62,268 0

01 Al&H] 383,516 401,256 A12,740

&2 M} = 2 (4ha) 383,516 401,256 A12,740

= 271,962 280,880 £8,918

= 56,366 60, 188 £3,822

Al 60, 188 60, 188 0

oY ZuY 23 3,122,948 3,150,502 A 27,554

2 1,242,855 1,259,062 16,207

= 446,547 446,546 1

Al 1,433,546 1,444,894 A11,348

ST 2 78,000 48,000 30,000

3 14,400 14,400 0

Al 63,600 33,600 30,000

254 22 30,000 0 30,000

401 Al&1 I 2 = CH | 30,000 0 30,000

01 Al&H| 30,000 0 30,000

254 2 L4 B2AMY 30,000 0 30,000

TYAY 774,976 781, 182 76,206

2 277,349 293,556 16,207

= 141,307 141,306 1

Al 356,320 346,320 10,000

ZY A 26,600 16,600 10,000

206 T Z 2,000 2,000 10,000

01 Tt 12,000 2,000 10,000

SO S22 B, URAT 10,000 0 0,000

ZYMY(EX) 748,376 764,562 16,206

= 277,349 293,556 16,207

= 141,307 141,306 1

Al 329,720 329,720 0




2N
X ZH -
L= B

el

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
401 Al HIZ 201 Y| 748,376 764,582 A 16,206
= 277,349 293,556 A16,207
& 141,307 141,306 1
Al 329,720 329,720 0
01 A& HI 702,323 718,529 N 16,206
TEAY 702,323 718,529 A 16,206
= 250,917 267,124 N 16,207
< 135,141 135, 140 1
Al 316,265 316,265 0
S MY 2,269,972 2,321,320 A51,348
= 965,506 965,506 0
= 290,840 290,840 0
Al 1,013,626 1,064,974 A51,348
AHIAHS EEAY 335,000 386,348 N51,348
101 1Al 0 12,348 N 12,348
4 JIZtHZ2HEE+ 0 12,348 N 12,348
SHIHI 2¢ 0 12,348 A 12,348
-0l 2| 0 9,800 A 9,800
-4 0 2,548 A2,548
201 LEt2E | 0 39,000 A 39,000
02 32224l 0 39,000 /39,000
SN0l S FHl 0 39,000 A 39,000
IS ISk 7,840,544 5,077,149 2,763,395
= 670,011 409,975 260,036
Xl 820,000 820,000 0
< 411,443 377,796 33,647
Al 5,939,090 3,469,378 2,469,712
DAS e X3 1,078,298 680,426 397,872
= 604,957 344,921 260,036
< 131,832 98,185 33,647
Al 341,509 237,320 104,189
MBERSMASHTZL(EX) 298,556 1,556 297,000
= 198,778 778 198,000
< 19,956 156 19,800
Al 79,822 622 79,200
402 BI2HX=01 M 298,556 1,556 297,000
= 198,778 778 198,000
< 19,956 156 19,800
Al 79,822 622 79,200
01 AT =AIEE X 298,556 1,556 297,000
MERASHAIEZL X 297,000 0 297,000
= 198,000 0 198,000
=) 19,800 0 19,800
Al 79,200 0 79,200
ee M8 =4 109,668 110,664 A 996




2N
X ZH -
L= B

el

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2

= 54,834 55,332 N498

S 10,967 11,067 A 100

Al 43,867 44,265 A 398

402 2I2tXt=01 & 109,668 110,664 A 996

= 54,834 55,332 A498

S 10,967 11,067 A 100

Al 43,867 44,265 A 398

01 AT E=ANEEx 109,668 110,664 A 996

SrESSFEHI &4 109,668 110,664 2996

= 54,834 55,332 N 498

< 10,967 11,067 A 100

Al 43,867 44,265 A 398

HEo=s+Y 123,628 60, 160 63,468

= 61,814 30,080 31,734

S 12,363 6,016 6,347

Al 49,451 24,064 25,387

402 212t X201 & 123,628 60, 160 63,468

= 61,814 30,080 31,734

= 12,363 6,016 6,347

Al 49,451 24,064 25,387

01 g2t HEMAEE 123,628 60, 160 63,468

HEIAS 123,628 60, 160 63,468

= 61,814 30,080 31,734

& 12,363 6,016 6,347

Al 49,451 24,064 25,387

202 XHH TH ot Il off = 2 38,400 0 38,400

= 30,800 0 30,800

S 7,600 0 7,600

302 Ol Mol 24 = 38,400 0 38,400

= 30,800 0 30,800

< 7,600 0 7,600

02 2O T I =S FESEH = 38,400 0 38,400
20154 118 HETol X (HBEstA)/H

ga 33,150 0 33,150

= 27,300 0 27,300

= 5,850 0 5,850

2016 18 OH&TioH MHXAS/HgA 5,250 0 5,250

= 3,500 0 3,500

£ 1,750 0 1,750

so4 28 x4 548,912 421,672 127,240

= 3,000 3,000 0

Al 545,912 418,672 127,240

SAIR B8 =4 229,744 204,744 25,000

401 AIEHIZ 2 I 195,000 170,000 25,000

01 A& dl 195,000 170,000 25,000

SANSHE HOYAE E= 25,000 0 25,000
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SN B SR(EH) - MBAY - BES 0l &t o p/E-T HDE2

SAl S4B EY 309, 168 206,928 102,240

101 @121 8| 51,668 49,428 2,240

04 JIAH2ERS B4 51,668 49,428 2,240

~=pelg JIZRHIER Q2AY| 51,668 49,428 2,240

=R 60,0002 *2 + 122 1,440 1,200 240

- Y= EH| 300, 0008 *15] %2 600 0 600

-olgay 3500002 #25| *2% 1,400 0 1,400

401 AlEHI L2 OhHI 220,000 120,000 100,000

01 Al&tl 218,200 119,100 99,100

HEHSSE =M =2 Fy| 99,100 0 99, 100

03 Al& S THH| 1,800 900 900
HENSST =X0 +2 FY

100,000,000%0.9/100 900 0 900

MY BLEs XY 1,305,543 1,151,569 153,974

= 56,043 56,043 0

X 240,000 240,000 0

= 149,959 149,959 0

Al 859,541 705,567 153,974

A2 25 A 20,000 30,000 210,000

307 ©I2t0| & 20,000 30,000 210,000

04 QI AAL S B T 20,000 30,000 210,000

SOt 22 =X 0 10,000 ~10,000

sz B 291,585 171,585 120,000

401 AlEH L 2 0HHI 240,000 120,000 120,000

01 Al 239,100 119,100 120,000

el saz Il 20,000 0 20,000

HEF S ZHHE S8 100,000 0 100,000

HSF8 5yE 29 339,752 297,898 41,854

101 @124 8| 151,922 136,898 15,024

04 JIAHIERS B4 151,922 136,898 15,024

SESNE Y 14,024 0 14,024

- 3y aa= 10,000 *62 +6 % 360 0 360

- YRS 300,0009 * 18] %14 4,200 0 4,200

-olgayg 350, 0008 #25] *4% 2,800 0 2,800

- 2s501% oEpe 49,0008! +8L 2% 784 0 784

- EXel o, BA S 49,0009 «8L «15% 5,880 0 5,880

E2Y 22K 22= 50,0002 20 1,000 0 1,000

201 Lere | 124,330 95,000 29,330

01 Ak 22| 16,330 15,000 1,330




2N
X ZH -
L= B

el

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2

AFUNO RS 40 S2X S|

7,0008! *382 +5% 1,330 0 1,330

02 BBl 108,000 80,000 28,000

HEaNHELE BB22 2 HA 88,000 60,000 28,000

301 LBt A S 0 1,000 A 1,000

R EEEEETEINE] 0 1,000 A 1,000

NEEEELLY 0 1,000 A 1,000

405 XHoHE S| 13,500 15,000 £1,500

01 MU 22 S| 13,500 15,000 A1,500

k)| 13,500 15,000 A 1,500

= HaIHEE) 15,316 14,256 1,060

2 7.128 7,128 0

= 1,426 1,426 0

Al 6.762 5,702 1,060

101 Q124 Hl 15,316 14,256 1,060

2 7,128 7,128 0

= 1,426 1,426 0

Al 6.762 5,702 1,060

BENEESETCRS 15,316 14,256 1,060

JNM22X MM 1,060 0 1,060

- & £t 300,000 *15] 12 300 0 300

Olgay 350,000 <28 * 1% 700 0 700

-2l Q4= 10,0002 <68 * 12 60 0 60

SLHEXNSAH(REE) 13,890 12,830 1,060

2 6.415 6.415 0

= 1,283 1,283 0

Al 6,192 5,132 1,060

101 2124 Hl 13,890 12,830 1,060

2 6.415 6,415 0

< 1,283 1,283 0

Al 6.192 5,132 1,060

YSIENEESVETRS 13,890 12,830 1,060

JINMIER HRHH 1,060 0 1,060

-2 & £t 300,000 *15] 1% 300 0 300

Dlgay 350,000 <28 *1% 700 0 700

-2l 4= 10,0002 <68 * 1% 60 0 60

o ol 847,642 846,562 1,060

= 9,011 9,011 0

X 580,000 580,000 0

= 126,652 126,652 0

Al 131,979 130,919 1,060

MEMEOIE SFUUN 2SS (2X) 5,282 14,222 1,060

= 7,111 7,111 0

= 1,422 1,422 0




SA: MYBAD
Ha: Mg K E
Sol YRR AR

2N -3 -2 (SH) - NHEAMY - BES Off &4 I E M Hwsz
A 6,749 5,680 T,060
101 @121 8| 15,282 14,222 1,060
= 7,111 7,111 0
< 1,422 1,422 0
Al 6,749 5,689 1,060
04 JIAH2ERS B4 15,282 14,222 1,060
JIAH 22N HL 1,060 0 1,060
~Y = E | 3000009 *18| *1 300 0 300
eSS 3500002 %238 *1 700 0 700
- aaE 10,0008 +62 *1 60 0 60
Il 2 K| 05 2 2,563,740 1,962,000 601,740
H 2RI H 2| 2 A Y 2,563,740 1,962,000 601,740
401 AlEHI L2 0hYI 1,480,000 550,000 930,000
01 Al 1,466,000 550,000 916,000
HFEN LY =2E2AS AF 616,000 0 616,000
223 HOIZE 300,000 0 300,000
02 22l 10,000 0 10,000
HFEN TNELY =2E2AS ME 10,000 0 10,000
03 Al& 2 TH | 4,000 0 4,000
HFEN NEYY 2EAS AE 4,000 0 4,000
402 RI2LXHEO0IH 1,083,740 1,412,000 328,260
01 QAT =AY E X 1,083,740 1,412,000 328,260
EOHA MUHAIA 1,083,740 1,412,000 328,260
TH+=28E =4 901,509 0 901,509
Zg4+S7E =4 901,509 0 901,509
401 AlEHI L2 0hYI 901,509 0 901,509
01 Al 901,509 0 901,509
THLSEY =4 901,509 0 901,509
NRE a8 Ze 594,900 14,900 580,000
ANgg oel 594,900 14,900 580,000
201 2et2 | 42,000 12,000 30,000
01 Ak 22| 42,000 12,000 30,000
NN ANRU0L 5 B L IH = 30,000 0 30,000
401 AlEH 2 2 0HHI 550,000 0 550,000
01 A&l 550,000 0 550,000
HEE B4 N2 MEB% EXHY 550,000 0 550,000
ZEZAS 1,881,777 935,688 946,089
= 5,702 5,702 0
X 80,000 80,000 0
= 56,717 56,717 0




SN NETRD
HH: 2ETAS
©9: 2EBA G EEH-E)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
A 7,739,358 793, 260 946, 089
=2E39 8 1,649,313 704,284 945,029
< 21,576 21,576 0
Al 1,627,737 682,708 945,029
=ZETA3 577,393 382,364 195,029
101 Q121 bl 194,393 119,364 75,029
04 JIAH2ZNSE S 194,393 119,364 75,029
A RY RER 2 75,029 0 75,029
- o121 49,000 +202 +6 2 112 64,680 0 64,680
-anRER 64,680,000% *16/100 10,349 0 10,349
401 Al HI L 2 T 330,000 210,000 120,000
01 A&l 330,000 210,000 120,000
HIHA BY XY 60,000 0 60,000
ANUDY 2% ZCel X4 60,000 0 60,000
e =4 520,000 250,000 270,000
401 Al HI L =2 Tl 520,000 250,000 270,000
01 Al Hl 517,660 248,560 269, 100
SHEH4SE Y WYER2 42 Iy 60,000 0 60,000
Y FH 24 | 99,100 0 99,100
arel~2Ael tE4 Zl 30,000 0 30,000
HPZ(HES-AZA) 2L FH) 30,000 0 30,000
SHRE~2BAN2 H24 Hy) 50,000 0 50,000
03 Al&E 2 HHI 2,340 1,440 900
Y F¥ 24 Il 900 0 900
UEY F0 =NHZ X4 50,000 70,000 £20,000
= 21,000 21,000 0
Al 29,000 49,000 £20,000
401 Al HI YL 2 Tl 50,000 70,000 £20,000
= 21,000 21,000 0
Al 29,000 49,000 £20,000
01 Al Hl 49,540 69,356 £19,816
UEH FO =XEBY X4 49,540 69,356 ~19,816
< 20,806 20,806 0
Al 28,734 48,550 £19,816
03 Al 2 HI 460 644 184
UEY F0 =Y X4 460 644 184
= 194 194 0
Al 266 450 184
ZETAS(2X) 500,000 0 500, 000
401 Al HI L 2 THHI 500,000 0 500, 000
01 A&l 500,000 0 500, 000
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